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1L 2 MaaaYed (m + 5) (m - 5)
Wi m+5m-5 = (MmIm)+ (M5 + (5)Xm) + (5)-5)

= m’-5m + 25m - 25
= m2+20m—25

@au M+ 20m - 25

2. WAWaAUVDI (By + 2)(dy -7)
W By +2) @y -7) = By)dy) + By)-7) + (2)ay) + (2)-7)
= 12y~ 21y + 8y - 14
- 12y° 13y - 14

mau = 12y° - 13y 14

3. WNINAQUVDI (4m”+7m+2) (2m-1)

3B @m’ +7Tm+2)2m-1)
= (@m°)2m) + (@m° )-1) + (7Tm)(2m) +HTm)-1) + 2)2m)+ (2)-1)
= 8m3— 4m2+ 14m2—7m +dm -2
= 8m3+10m2— 3m -2

MU 8m- +10m- - 3m - 2
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4. WANaAUUDY (9 y’ -5 1dy -1)
35 9" -5
1ay -1
126y + Oy~ 70y
- 9;(2 + 0y +5
126y° - 9y"- 70y + 5
MaU 126y - 9y - 70y + 5

X

+

5. WAINARUUDY (dy -9)°

ada o

2591 dy -9
dy-9
16y2 - 36y
- 36y + 81
16y" — 72y + 81
mou 116y — 72y + 81

+
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